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(1) (=3 — 4i)(2 + 3i) = (=6 + 12) + (=9 — 8)i= 6+ (—17)i

S 1=2_(1-20B-4) G-+ (4-6i_ 1 2.
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H AT EAGE TE BV ABR A EE? (] DG AREL)

= BERER > BEHGA
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= 11, [cos(0; + 0;) + isin(6; +6,)]
Z1Zy = I, cos(0; +0,) + isin(0; +0,)

|2y 22 | = |21 | " |22 | = rir, S arg(zqz;) =argz; +argz, = 6; + 6,

2 AP AR
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z; 1 (cos6; + isin6;) o (cosB; + isin6; ) (cose2 — isin®,)
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(3) r(sinf —icos0)

i
N cos(—0) = —cos 0 > sin(—0) = —sin6
N c0s(90° —0) =sin@ > sin(90°—0) = cos b

(1) r(cos @ —isin0) =r[cos(—0) + isin(—6)]

(2) r(sin@ +icosB) =r[cos(90° — B) + i sin(90° — )]

(3) r(sinf —icosB) =r[cos(90° —0) —isin(90° —6)]

=r[cos(8 —90°) + isin(8 — 90°)]
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Fz=a+bi ,Z=a—bi

ME—  BEENEEH (1) 2] = |z],

MEZ  IEANEERQ) argz = —arg z

MWE = EEWRRQG) z+ 2= 2a

MBI - REEHIRH(R(4) z — Z = 2bi,

MEA - R RO z=2

ME 7S @ HIRAIRE(6) zZ = |z|?

LEAh > B RE R E R Bz, Mz, AR E > A LU E

@ ztz,=2% 7,
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© =2 (#H0)

Z2

QAEEFE NN > B EIE— MREM AR -
—IL=KITRER

EITREax? + bx + ¢ = OFJRIIR By, Foxy » ey + 2y = =20y - xp = =
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4(a + bi) + 2(a—bi) =3V3 +i
=> 6a+2bi=3V3+i

{6a=3\/3_’
2b=1
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